# Available online through www.ijma.info ISSN 2229-5046 

# ON GEODETIC POLYNOMIAL OF GRAPHS WITH EXTREME VERTICES 

A. Vijayan*<br>Department of Mathematics, Nesamony Memorial Christian college Marthandam-629165, Kanyakumari District, Tamilnadu, India<br>K. Vijila Dafini<br>Department of Mathemetics, Marthandam college of Engineering and technology, Kuttakuzhi, Kanyakumari District, Tamilnadu, India

(Received on: 05-06-12; Revised \& Accepted on: 30-06-12)


#### Abstract

Let $G=(V, E)$ be a simple graph. A set of vertices $S$ of a graph $G$ is geodetic, if every vertex of $G$ lies on a shortest path between two vertices in S. The geodetic number of $G$ is the minimum cardinality of all geodetic sets of $G$, and is denoted by $g(G)$. In [10], the concept of geodetic polynomial is defined as $g(G, x)=\sum_{i=\mathrm{g}(\mathrm{G})}^{\mathrm{n}} \mathrm{g}_{\mathrm{e}}(\mathrm{G}, \mathrm{i}) x^{i}$ where $\mathrm{g}_{\mathrm{e}}(\mathrm{G}, \mathrm{i})$ is the number of geodetic sets of $G$ with cardinality $i$. In this paper, we obtain the geodetic polynomials of the helm graph. Also, we compute the polynomials for some specific graphs.


Keywords: Geodetic polynomial, geodetic set, geodetic number, corona, extreme vertices.

## 1. Introduction

Let $\mathrm{G}=(\mathrm{V}, \mathrm{E})$ be a simple graph of order $|\mathrm{V}|=\mathrm{n}$. The distance $\mathrm{d}(\mathrm{u}, \mathrm{v})$ between two vertices u and v in a connected graph $G$ is the length of a shortest $u$-v path in $G$. A $u$-v path of length $d(u, v)$ is called $u$-v geodesic. The closed interval $\mathrm{I}[\mathrm{u}, \mathrm{v}]$ consists of all vertices lying on some u -v geodesic of G , while for $\mathrm{S} \subseteq \mathrm{V}, \mathrm{I}[\mathrm{S}]=\bigcup_{u, v} \mathrm{I}[\mathrm{u}, \mathrm{v}]$. A set S of vertices is a geodetic set if $\mathrm{I}[\mathrm{S}]=\mathrm{V}$, and the minimum cardinality of a geodetic set is the geodetic number $\mathrm{g}(\mathrm{G})$. The geodetic number of a graph was introduced in [4, 5]. In [1], the domination polynomial was introduced and some properties have been derived. In [10], the concept of geodetic polynomial was introduced. It is defined as $g(G, x)=\sum_{i=\mathrm{g}(\mathrm{G})}^{\mathrm{n}} \mathrm{g}_{\mathrm{e}}(\mathrm{G}, \mathrm{i}) x^{i}$ where G is a graph of order n and $\mathrm{g}_{\mathrm{e}}(\mathrm{G}, \mathrm{i})$ is the number of geodetic sets of G of cardinality i .

Let $h_{n}^{i}$ be the family of geodetic sets of a helm graph $\mathrm{H}_{\mathrm{n}}$ with cardinality i and let $g_{e}\left(H_{n}, i\right)=\left|h_{n}^{i}\right|$. We call the polynomial $g\left(H_{n}, x\right)=\sum_{i=n}^{2 \mathrm{n}+1} \mathrm{~g}_{\mathrm{e}}\left(\mathrm{H}_{\mathrm{n}}, \mathrm{i}\right) x^{i}$, the geodetic polynomial of the helm graph $\mathrm{H}_{\mathrm{n}}$.

The corona of the two graphs $G_{1}$ and $G_{2}$, as defined by Frucht and Harary in [10] is the graph

$$
G=G_{1} O G_{2}
$$

formed from one copy of $G_{1}$ and $\left|V\left(G_{1}\right)\right|$ copies of $G_{2}$, where the $\mathrm{i}^{\text {th }}$ vertex of $\mathrm{G}_{1}$ is adjacent to every vertex in the $\mathrm{i}^{\text {th }}$ copy of $\mathrm{G}_{2}$.

Let $G$ and $H$ be two graphs, $G$ adding $H$ at $u$ and $v$ denoted by $G_{u}+G_{v}$ is defined as $V\left(G_{u}+G_{v}\right)=V(G) \cup E(H)+u v$. $G$ joining H at u and v denoted by $G_{u} \odot H_{v}$ is obtained from $\mathrm{G}_{\mathrm{u}}+\mathrm{G}_{\mathrm{v}}$ by contracting the edge uv.

[^0]In [9] the concept of extreme geodesic graph was introduced. A vertex is simplicial or extreme if its neighbourhood induces a complete graph. A graph G is an extreme geodesic graph if all extreme vertices form a geodetic set.

In the next section, we constract the geodetic polynomial of helm graph. In section 3, we study the geodetic polynomial of extreme geodesic graph. In section 4, we find the geodetic polynomial of the graph $G \circ K_{n}$. Where $G \circ K_{n}$ is the corona of two graph G and $\mathrm{K}_{\mathrm{n}}$. In the last section, we study the polynomial $G_{u}+H_{v}$ and $G_{u} \odot H_{v}$.

## 2. Geodetic polynomial of a Helm graph

In this section, we introduce and investigate the geodetic polynomial of helm graph. Let $H_{n}, n \geq 3$ be the helm graph with $2 \mathrm{n}+1$ vertices.
Definition 2.1: The geodetic polynomial of a Helm graph $H_{n}$ is defined as $g\left(H_{n}, x\right)=\sum_{i=n}^{2 n+1} g_{e}\left(H_{n}, i\right) x^{i}$ where $g_{e}\left(H_{n}, i\right)$ is the number of geodetic sets of $\mathrm{H}_{\mathrm{n}}$ with cardinality i.

Let $h_{n}^{i}$ be the family of geodetic sets of helm $\mathrm{H}_{\mathrm{n}}$ with cardinality i and let $g_{e}\left(H_{n}, i\right)=\left|h_{n}^{i}\right|$
Lemma 2.2: The following properties hold for helm graph
i) $g\left(H_{n}\right)=n$
ii) $h_{n}^{i}=\phi$ if and only if $\mathrm{i}<\mathrm{n}$ or $\mathrm{i}>2 \mathrm{n}+1$
iii) If a helm graph $G$ with $2 k+1$ vertices, then every geodetic set of $G$ must contain atleast $k$ vertices

Proof: Proof is obvious
Theorem 2.3: For every $n \geq 5$,
i) If $h_{n}^{i}$ is the family of geodetic sets of $H_{n}$ with cardinality i, then $\left|h_{n}^{n+j}\right|=\left|h_{n-1}^{n+j-1}\right|+\left|h_{n-1}^{n+j-2}\right|$
ii) $\quad g\left(H_{n}, x\right)=x^{2} g\left(H_{n-1}, x\right)+g\left(H_{n-1}, x\right)$
iii) $\quad g\left(H_{n}, x\right)=x^{n}(1+x)^{n+1}$

Proof: i) In $H_{n}$, we consider the geodetic sets of $H_{n}$ with cardinality $n+j, j=0,1,2, \ldots n+1 . H_{n}$ has $2 n+1$ vertices. Geodetic sets of $H_{n}$ must contain $n$ vertices. Now there remain ( $n+1$ ) vertices and we have to choose $j$ vertices from these $(\mathrm{n}+1)$ vertices. Therefore, there are $(\mathrm{n}+1) \mathrm{C}_{\mathrm{j}}$ geodetic sets in $\mathrm{H}_{\mathrm{n}}$ with cardinality $\mathrm{n}+\mathrm{j}$. That is $g_{e}\left(H_{n}, n+j\right)=(n+1) C_{j}$. Similarly $g_{e}\left(H_{n}, n+j-1\right)=n C_{j}$ and
$g_{e}\left(H_{n}, n+j-2\right)=n C_{j-1}$. But $(n+1) C_{j}=n C_{j}+n C_{j-1}$.
Therefore $g_{e}\left(H_{n}, n+j\right)=g_{e}\left(H_{n-1}, n+j-1\right)+g_{e}\left(H_{n-1}, n+j-2\right)$
Hence $\left|h_{n}^{n+j}\right|=\left|h_{n-1}^{n+j-1}\right|+\left|h_{n-1}^{n+j-2}\right|$
ii) By (i) above, we have $\left|h_{n}^{n+j}\right|=\left|h_{n-1}^{n+j-1}\right|+\left|h_{n-1}^{n+j-2}\right|$

$$
\begin{aligned}
& j=0 \Rightarrow\left|h_{n}^{n}\right|=\left|h_{n-1}^{n-1}\right|+\left|h_{n-1}^{n-2}\right| \Rightarrow x^{n}\left|h_{n}^{n}\right|=x^{n}\left|h_{n-1}^{n-1}\right|+x^{n}\left|h_{n-1}^{n-2}\right| \\
& j=1 \Rightarrow\left|h_{n}^{n+1}\right|=\left|h_{n-1}^{n-2}\right|+\left|h_{n-1}^{n-1}\right| \Rightarrow x^{n+1}\left|h_{n}^{n+1}\right|=x^{n+1}\left|h_{n-1}^{n-2}\right|+x^{n+1}\left|h_{n-1}^{n-1}\right|
\end{aligned}
$$

$$
\begin{gathered}
\left.\begin{array}{c}
j=2 \Rightarrow\left|h_{n}^{n+2}\right|=\left|h_{n-1}^{n-1}\right|+\left|h_{n-1}^{n}\right| \Rightarrow x^{n+2}\left|h_{n}^{n+2}\right|=x^{n+2}\left|h_{n-1}^{n-1}\right|+x^{n+2}\left|h_{n-1}^{n}\right| \\
\cdot \\
\cdot \\
j=n \Rightarrow\left|h_{n}^{2 n}\right|=\left|h_{n-1}^{2 n-1}\right|+\left|h_{n-1}^{2 n-2}\right| \Rightarrow x^{2 n}\left|h_{n}^{2 n}\right|=x^{2 n}\left|h_{n-1}^{2 n-1}\right|+x^{2 n}\left|h_{n-1}^{2 n-2}\right| \\
j=n+1 \Rightarrow\left|h_{n}^{2 n+1}\right|=\left|h_{n-1}^{2 n}\right|+\left|h_{n-1}^{2 n-1}\right| \Rightarrow x^{2 n+1}\left|h_{n}^{2 n+1}\right|=x^{2 n+1}\left|h_{n-1}^{2 n}\right|+x^{2 n+1}\left|h_{n-1}^{2 n-1}\right|
\end{array} . \begin{array}{l}
\cdot
\end{array}\right) .
\end{gathered}
$$

Adding all these, we get

$$
\begin{aligned}
& \begin{aligned}
x^{n}\left|h_{n}^{n}\right|+x^{n+1}\left|h_{n}^{n+1}\right|+ & x^{n+2}\left|h_{n}^{n+2}\right|+\ldots+x^{2 n}\left|h_{n}^{2 n}\right|+x^{2 n+1}\left|h_{n}^{2 n+1}\right| \\
= & \left(x^{n}\left|h_{n-1}^{n-1}\right|+x^{n+1}\left|h_{n-1}^{n}\right|+x^{n+2}\left|h_{n-1}^{n+1}\right|+\ldots+x^{2 n}\left|h_{n-1}^{2 n-1}\right|+x^{2 n+1}\left|h_{n-1}^{2 n}\right|\right) \\
& \left.\quad+\left|x^{n}\right| h_{n-1}^{n-2}\left|+x^{n+1}\right| h_{n-1}^{n-1}\left|+x^{n+2}\right| h_{n-1}^{n}\left|+\ldots+x^{2 n}\right| h_{n-1}^{2 n-2}\left|+x^{2 n+1}\right| h_{n-1}^{2 n-1} \mid\right)
\end{aligned} \\
& \begin{array}{c}
\sum_{1=n}^{2 n}\left|h_{n}^{i}\right| x^{i}=x\left[x^{n-1}\left|h_{n-1}^{n-1}\right|+x^{n}\left|h_{n-1}^{n}\right|+x^{n+1}\left|h_{n-1}^{n+1}\right|+\ldots+x^{2 n-1}\left|h_{n-1}^{2 n-1}\right|\right] \\
\\
\\
\quad+x^{2}\left[x^{n-1}\left|h_{n-1}^{n-1}\right|+x^{n}\left|h_{n-1}^{n}\right|+\ldots+x^{2 n-2}\left|h_{n-1}^{2 n-2}\right|+x^{2 n-1}\left|h_{n-1}^{2 n-1}\right|\right]
\end{array}
\end{aligned}
$$

Since $h_{n-1}^{2 n}=0, h_{n-1}^{n-2}=0$

$$
\begin{aligned}
& \sum_{i=n}^{2 n}\left|h_{n}^{i}\right| x^{i}=x \sum_{i=n-1}^{2 n-1}\left|h_{n-1}^{i}\right| x^{i}+x^{2} \sum_{i=n-1}^{2 n-1}\left|h_{n-1}^{i}\right| x^{i} \\
& \text { ie } \sum_{i=n}^{2 n} g_{e}\left(H_{n}, i\right) x^{i}=x \sum_{i=n-1}^{2 n-1} g_{e}\left(H_{n-1} i\right) x^{i}+x^{2} \sum_{i=n-1}^{2 n-1} g_{e}\left(H_{n-1}, i\right) x^{i}
\end{aligned}
$$

Therefore, $g\left(H_{n}, x\right)=x g\left(H_{n-1}, x\right)+x^{2} g\left(H_{n-1}, x\right)$
iii) By induction on $n$. The result is true for $n=5$, because
$g\left(H_{5}, x\right)=x^{5}+6 x^{6}+15 x^{7}+20 x^{8}+15 x^{9}+6 x^{10}+x^{11}$. Assume that the result is true for all natural numbers less than n . We prove the result for $n$. We have $g\left(H_{n}, x\right)=x^{n-1}(1+x)^{n}$.

$$
\text { Now } \begin{aligned}
g\left(H_{n}, x\right) & =x^{2} g\left(H_{n-1}, x\right)+x g\left(H_{n-1}, x\right) \\
& =x^{2}\left[x^{n-1}(1+x)^{n}\right]+x\left[x^{n-1}(1+x)^{n}\right] \\
& =x^{n-1}(1+x)^{n}\left[x^{2}+x\right] \\
& =x^{n-1}(1+x)^{n} x[1+x] \\
& =x^{n}(1+x)^{n+1}
\end{aligned}
$$

Therefore the result is true for all n .

Using theorem 2.3 we obtain $g_{e}\left(H_{n}, i\right)$ for $4 \leq n \leq 9$ as shown in the table1. There are interesting relationships between numbers in this table.

Table1:
$g_{e}\left(H_{n}, j\right)$, the number geodetic set of $H_{n}$ with cardinality $j$.

| j <br> n | 4 | 5 | 6 | 7 | 8 | 9 | 10 | 11 | 12 | 13 | 14 | 15 | 16 | 17 | 18 | 19 |
| :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: | :---: |
| $\mathrm{H}_{4}$ | 1 | 5 | 10 | 10 | 5 | 1 |  |  |  |  |  |  |  |  |  |  |
| $\mathrm{H}_{5}$ | 0 | 1 | 6 | 15 | 20 | 15 | 6 | 1 |  |  |  |  |  |  |  |  |
| $\mathrm{H}_{6}$ | 0 | 0 | 1 | 7 | 21 | 35 | 35 | 21 | 7 | 1 |  |  |  |  |  |  |
| $\mathrm{H}_{7}$ | 0 | 0 | 0 | 1 | 8 | 28 | 42 | 70 | 42 | 28 | 8 | 1 |  |  |  |  |
| $\mathrm{H}_{8}$ | 0 | 0 | 0 | 0 | 1 | 9 | 36 | 84 | 126 | 126 | 84 | 36 | 9 | 1 |  |  |
| $\mathrm{H}_{9}$ | 0 | 0 | 0 | 0 | 0 | 1 | 10 | 45 | 120 | 210 | 252 | 210 | 120 | 45 | 10 | 1 |

Example 1.4: A helm graph $\mathrm{H}_{5}$ with 11 vertices.


Theorem 1.5: The following properties hold for the coefficients of $g\left(H_{n}, x\right)$, for all $n \geq 4$
i) $g_{e}\left(H_{n}, n\right)=1$
ii) $g_{e}\left(H_{n}, 2 n+1\right)=1$
iii) $g_{e}\left(H_{n}, n+1\right)=n+1$
iv) $g_{e}\left(H_{n}, 2 n\right)=n+1$
v) $g_{e}\left(H_{n}, n+2\right)=\frac{n(n+1)}{2}$
vi) $g_{e}\left(H_{n}, 2 n-1\right)=\frac{n(n+1)}{2}$
vii) $g_{e}\left(H_{n}, n+3\right)=\frac{n(n-1)(n+1)}{6}$
viii) $g_{e}\left(H_{n}, 2 n-2\right)=\frac{n(n-1)(n+1)}{6}$
ix) If $S_{n}=\sum_{j=n}^{2 n+1} g_{e}\left(H_{n}, j\right)$, then for every $n \geq 4, S_{n}=2\left(S_{n-1}\right)$ with initial value $S_{4}=32$
x) $\mathrm{S}_{\mathrm{n}}=$ Total number of geodetic sets in $H_{n}=2^{n+1}$

Proof: Properties (i) to (viii) hold, by theorem 2.2.
ix) If $S_{n}=\sum_{j=n}^{2 n+1} g_{e}\left(H_{n}, j\right)$
$=\sum_{j=n}^{2 n+1}\left\{g_{e}\left(H_{n-1}, j-1\right)+g_{e}\left(H_{n-1}, j-2\right)\right\}$
$=\sum_{j=n}^{2 n+1} g_{e}\left(H_{n-1,}, j-1\right)+\sum_{j=n}^{2 n+1} g_{e}\left(H_{n-1}, j-2\right)$
$=\sum_{j=n-1}^{2 n-1} g_{e}\left(H_{n-1}, j\right)+\sum_{j=n-1}^{2 n-1} g_{e}\left(H_{n-1}, j\right)$
$=S_{n-1}+S_{n-1}$
ie, $S_{n}=2\left(S_{n-1}\right)$
x) By induction on $n$. The result is true for $n=4$, since $S_{4}=2^{5}=32$. Assume that the result is true for all natural numbers less than $n$. Therefore, $S_{n-1}=2^{n}$. Now $S_{n}=2 S_{n-1}=2 \cdot 2^{n}=2^{n+1}$. Therefore, the result is true for $n$. Hence, by induction principle, the result is true for all $n$.

## 3. Extreme vertices

A vertex is simplicial or extreme it is neighbourhood induces a complete graph. A graph $G$ is an extreme geodesic graph if all extreme vertices form a geodetic set.

Theorem 3.1: If G is an extreme geodesic graph than $g(G, x)=x^{r}(1+x)^{n-r}$ where r is the number of extreme vertices

Proof: Let $G$ be an extreme geodesic graph with $n$ vertices. Let the extreme vertices be $\mathrm{v}_{1}, \mathrm{v}_{2}, \ldots, \mathrm{v}_{\mathrm{r}}$. Every vertex lies on the path joining of two extreme vertices. Therefore $g(G)=r$. The geodetic set of $G$ with cardinality $r$ is $\left\{v_{1}, v_{2}, \ldots ., v_{r}\right\}$. Therefore $g_{e}(G, r)=1$. The geodetic set of G with cardinality $\mathrm{r}+1$ is $(\mathrm{n}-\mathrm{r}) \mathrm{C}_{1}$. Therefore $g_{e}(G, r+1)=(n-r) C_{1}$. The geodetic set of $G$ with cardinality $\mathrm{r}+2$ is (n-r)C2. Therefore $g_{e}(G, r+2)=(n-r) C_{2}$. Continuing in this way, the geodetic set of $G$ with cardinality n is $(n-r) C_{n-r}$. That is $g_{e}(G, n)=(n-r) C_{n-r}$. Therefore geodetic polynomial of G is

$$
\begin{aligned}
g(G, x) & =(n-r) C_{o} x^{r}+(n-r) C_{1} x^{r+1}+\ldots+(n-r) C_{n-r} x^{n} \\
& =x^{r}\left[(n-r) C_{o}+(n-r) C_{1} x+(n-r) C_{2} x^{2}+\ldots+(n-r) C_{n-r} x^{n-r}\right] \\
& =x^{r}\left[1+(n-r) C_{1} x+(n-r) C_{2} x^{2}+\ldots . .+x^{n-r}\right] \\
& =x^{r}\left[(1+x)^{n-r}\right]
\end{aligned}
$$

Corollary 3.2: In any graph $G$ with $n$ vertices $v_{1}, v_{2} \ldots . v_{r}$ are pendent vertices and if $g(G)=r$ then $g(G, x)=x^{r}(1+x)^{n-r}$

Proof: As every pendent vertex is extreme, by previous theorem, $g(G, x)=x^{r}(1+x)^{n-r}$.
Corollary 3.3: If $G$ is a Triangular ladder graph with $n$ vertices. Then the geodetic polynomial of $G$ is $g(G, x)=x^{2}(1+x)^{n-2}$

## A. Vijayan* \& K. Vijila Dafini/ ON GEODETIC POLYNOMIAL OF GRAPHS WITH EXTREME VERTICES/ IJMA- 3(6), June-2012, Page: 2329-2336

Proof: Triangular ladder graph with $n$ vertices is
G:



In Triangular ladder graph $G, \mathrm{v}_{0}, \mathrm{v}_{\mathrm{n}}$ are extreme vertices, and $g(G)=2$. Therefore by previous theorem3.1, $g(G, x)=x^{2}(1+x)^{n-2}$

Corollary 3.4: If $G$ is a Extended grid graph with $n$ vertices then the geodetic polynomial of $G$ is $g(G, x)=x^{r}(1+x)^{n-r}$.

Proof: Extended grid graph with n vertices is
G:



In graph $G, v_{1}, v_{2}, v_{n}, v_{n-1}$ are extreme vertices and $g(G)=4$. Therefore by theorem $3.1 g(G, x)=x^{4}(1+x)^{n-4}$.

## 4. Geodetic polynomial of $G \circ K_{m}$

Let $G$ be any graph with vertex set $\left\{v_{1}, v_{2}, \ldots . v_{n}\right\}$. Join each vertex of $G$ to $K_{m}$. By the definition of corona of two graphs, we shall denote this by $G \circ K_{m}$.

Lemma 4.1: For any graph $G$ of order $n, g\left(G \circ K_{m}\right)=m n$
Proof: If $\mathrm{G}_{1}$ is a geodetic set of $G \circ K_{m}$. Then $G_{1}=\left\{u_{1}, u_{2}, . ., u_{m}, u_{m+1}, u_{m+2}, \ldots, u_{2 m}, u_{2 m+1}, u_{2 m+2}, \ldots, u_{n m}\right\}$ or $G_{1}=\left\{u_{1}, u_{2}, \ldots, u_{m}, \ldots, u_{2 m}, \ldots, u_{n m}\right\} \cup A \quad$ where $\quad A \subseteq\left\{v_{1}, v_{2} \ldots v_{n}\right\}$. Therefore $\quad\left|G_{1}\right| \geq m n$. Since $\left\{u_{1}, u_{2}, \ldots, u_{m}, \ldots, u_{2 m}, \ldots, u_{n m}\right\}$ is a geodetic set of $G \circ K_{m}$, we have $g\left(G \circ K_{m}\right)=m n$.
By lemma4.1, $g_{e}\left(G \circ K_{m}, p\right)=0$ for $p<m n$, so we shall compute $g_{e}\left(G \circ K_{m}, p\right)$ for $m n \leq p \leq n(1+m)$.
Theorem 4.2: For any graph G of order $n$ and $m n \leq p \leq n(1+m)$, we have $g_{e}\left(G \circ K_{m}, p\right)=\binom{n}{p-m n}$. Hence, $g\left(G \circ K_{m}, x\right)=x^{m n}(1+x)^{n}$.

Proof: Suppose that $G_{1}$ is a geodetic set of $G$ of size $p$. when $p=m n$, the geodetic set with cardinality $m n$ is $G_{1}=\left\{u_{1}, u_{2}, \ldots, u_{m}, \ldots, u_{2 m}, \ldots, u_{m n}\right\}$. Therefore, $g_{e}\left(G \circ K_{m}, m n\right)=\binom{n}{0}$
When $\mathrm{p}=\mathrm{mn}+1, \quad g_{e}\left(G \circ K_{m}, m n+1\right)=\binom{n}{1}$

When $\mathrm{p}=\mathrm{mn}+2, g_{e}\left(G \circ K_{m}, m n+2\right)=\binom{n}{2}$. By continuing in this way
When $p=m n+n=n(m+1)$ the geodetic set with cordiality $n(m+1)$ is
$G_{1}=\left\{u_{1}, u_{2}, \ldots . u_{m}, . . u_{m+1} \ldots u_{2 m} \ldots u_{m n}\right\} \cup\left\{v_{1}, v_{2}, \ldots . v_{n}\right\}$.
Therefore $g_{e}\left(G \circ K_{m}, m n+n\right)=\binom{n}{n}$. In general we conclude that $g_{e}\left(G \circ K_{m}, p\right)=\binom{n}{p-m n}$.
Therefore Geodetic polynomial of $G \circ K_{m}$ is $G\left(G \circ K_{m}, x\right)=n C_{0} x^{m n}+n C_{1} x^{m n+1}+\ldots . n C_{n} x^{m n+n}$

$$
\begin{aligned}
& =x^{m n}\left(n C_{o}+n C_{1}+\ldots \ldots+n C_{n} x^{n}\right) \\
g\left(G \circ K_{m}, x\right) & =x^{m n}(1+x)^{n}
\end{aligned}
$$

5. Geodetic polynomial of $G_{u}+H_{v}$ and $G_{u} \odot H_{v}$

Let $G$ and $H$ be two graphs. $G$ adding $H$ at $u$ and $v$ denoted by $G_{u}+H_{v}$ is defined as $V\left(G_{u}+H_{v}\right)=V(G) \cup V(H)$ and $E\left(G_{u}+H_{v}\right)=E(G) \cup E(H)+u v$

G joining H at u and v denoted by $G_{u} \odot H_{v}$ is obtained from $G_{u}+H_{v}$ by contracting the edge uv.
Theorem 5.1: Suppose G and H are two non-trivial graphs and $\mathrm{S}_{1}$ ( $\mathrm{S}_{2}$ respectively) is a minimum geodetic set of $\mathrm{G}(\mathrm{H}$ respectively). Let $u \in S_{1}$ and $v \in S_{2}$. Then $g\left(G_{u}+H_{v}\right)=g(G)+g(H)-2 \quad$ and $g\left(G_{u} \odot H_{v}\right)=g(G)+g(H)-2$

## Theorem 5.2:

(i) The geodetic polynomial of $K_{m_{u}}+K_{n_{v}}$ is $g\left(K_{m_{u}}+K_{n_{v}}, x\right)=x^{m+n}\left(\frac{1}{x^{2}}+\frac{2}{x}+1\right)$
(ii) The geodetic polynomial of $K_{m_{u}} \odot K_{n_{v}}$ is $g\left(K_{m_{u}} \odot K_{n_{v}}, x\right)=x^{m+n}\left(\frac{1}{x^{2}}+\frac{1}{x}\right)$

Proof: By theorem 5.1

$$
g\left(K_{m_{u}}+K_{n_{v}}\right)=m+n-2
$$

Let $\left\{u_{1}, u_{2}, \ldots, u_{m-1}, u\right\}$ be the vertex set of $\mathrm{K}_{\mathrm{m}}$.
Let $\left\{v_{1}, v_{2}, \ldots, v_{m-1}, v\right\}$ be the vertex set of $\mathrm{K}_{\mathrm{n}}$.
Therefore $\left\{u_{1}, u_{2}, \ldots, u_{m-1}, u, v_{1}, v_{2}, \ldots . v_{n-1}, v\right\}$ is the vertex set of $K_{m_{u}}+K_{n_{v}}$. The only geodetic set of cardinality $\mathrm{m}+\mathrm{n}-2$ is $\left\{u_{1}, u_{2}, \ldots, u_{m-1}, v_{1}, v_{2}, \ldots, v_{n-1}\right\}$
ie, $g_{e}\left(K_{m_{u}}+K_{n_{v}}, m+n-2\right)=1$. The Geodetic set with cardinality $\mathrm{m}+\mathrm{n}-1$ is, $\left\{u_{1}, u_{2}, \ldots, u_{m-1}, u, v_{1}, v_{2}, \ldots, v_{n-1}\right\}$ and $\left\{u_{1}, u_{2}, \ldots, u_{m-1}, v_{1}, v_{2}, \ldots . v_{n-1}\right\}$

$$
\text { ie, } g_{e}\left(K_{m_{u}}+K_{n_{v}}, m+n-1\right)=2
$$

The geodetic set with cardinality $\mathrm{m}+\mathrm{n}$ is $\left\{u_{1}, u_{2}, \ldots, u_{m-1}, u, v, v_{1}, v_{2}, \ldots, v_{n-1}\right\}$

$$
\text { ie, } g_{e}\left(K_{m_{u}}+K_{n_{v}}, m+n\right)=1
$$

Therefore $g\left(K_{m_{u}}+K_{n_{v}}, x\right)=x^{m+n-2}+2 x^{m+n-1}+x^{m+n}=x^{m+n}\left(\frac{1}{x^{2}}+\frac{2}{x}+1\right)$
i) By theorem 5.1

$$
g\left(K_{m_{u}} \odot K_{n_{v}}\right)=m+n-2
$$

Let $\left\{u_{1}, u_{2}, \ldots, u_{m-1}, u, v_{1}, v_{2}, \ldots, v_{n-1}\right\}$ be the vertex set $K_{m_{u}} \odot K_{n_{v}}$
The only geodetic set of cardinality $\mathrm{m}+\mathrm{n}-2$ is $\left\{u_{1}, u_{2}, \ldots, u_{m-1}, v_{1}, v_{2}, \ldots, v_{n-1}\right\}$

$$
\text { ie, } g_{e}\left(K_{m_{u}} \odot K_{n_{v}}, m+n-2\right)=1
$$

The geodetic set with cardinality $\mathrm{m}+\mathrm{n}-1$ is $\left\{u_{1}, u_{2}, \ldots, u_{m-1}, v_{1}, v_{2}, \ldots, v_{n-1}\right\}$

$$
\text { ie, } g\left(K_{m_{u}} \odot K_{n_{v}}, m+n-1\right)=1
$$

Since $K_{m_{u}} \odot K_{n_{v}}$ contains $\mathrm{m}+\mathrm{n}-1$ vertices

$$
g\left(K_{m_{u}} \odot K_{n_{u}}, x\right)=x^{m+n-2}+x^{m+n-1}=x^{m+n}\left(\frac{1}{x^{2}}+\frac{1}{x}\right)
$$

## REFERENCES

[1] Alikhani.A, and Peng Y.H., Introduction to Domination Polynomial of a Graph, arXiv: 0905.2251v1 [math.CO] 14May 2009.
[2] Alikhani.A, and Peng Y.H., Dominating sets and Domination polynomials of paths, International journal of Mathematics and Mathematical sciences, volume 2009.
[3] Alikhani.A, and Peng Y.H., Dominating sets of centipedes, Journal of Discrete Mathematical Sciences and Cryptography, Vol. 12 (2009).
[4] Buckly.F and Harary.F, Distance in graphs, Addison Wesley. Redwood City, CA, 1990.
[5] Chartrand.G, Palmer.E.M and Zhang.P, The geodetic number of a graph, Asurvey, Congr.numer. 156 (2002)37-58.
[6] Chartrand.G, Harary.F and Zhang.P, On the geodetic number of a graph, Networks 39(2002)1-6.
[7] Chartrand.G and Zhang.P, Introduction to Graph Theory, MC Graw Hill, Higher education, 2005.
[8] Frucht.R and Harary.F, On the corona of two graphs, Aequations Math. 4 (1970) 322-324.
[9] Gray Chartand and PinG ZhanG, Kalamazoo, Extreme Geodesic Graphs, Czechoslovak Mathematical Journal, 52(127) (2002), 771-780.
[10] Vijayan. A and Binu Selin. T, An introduction to geodetic polynomial of a graph, submitted.


[^0]:    Corresponding author: A. Vijayan*, Department of Mathematics, Nesamony Memorial Christian college Marthandam-629165, Kanyakumari District, Tamilnadu, India

